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5. 1 ﬁif}.:

A 4 (2.4.1)

HE=x £ QI p | #kE Hiy vl
1 |Ex1s b 1 1,701,400 1,213,032
2 |k M2 26,121 35 24
3  |BEdES M3 29,544 98 66
6 |kTxrigzd mfg i 1 4,063,880 2,738,460
7T (B3I rRRN P 1 260,000 175,202
8 |4 M2 22,150 180 121
12 |42 3500 PS M3 13,611 1,950 1,314
13 |42 4000 PSI M3 3,194 2,050 1,381
15 |4 #f M2 | 130,429 330 222
17 |4 2> FY=4200 T 1,592 14,800 9,973
T (4R p 1| 16978619 | 11,441,105
R i 1 346,502 233,492
5 Banad ﬁ*: i 1 346,502 233,492
¥o|2 ﬁ % 7 b 1 1,039,507 700,476
R A 3 1 1,039,507 700,476
B w4 i 1| 18312654 | 12,340,048

40



7 P 6 " B3
B A 39,361,940 | 189,151,589
1 B A 1,879,821 | 32,683,780
SR ERY 293,585 5,061,888
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s 598,942
2 2L 6,051,312
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2 AZEHI %;L
= AP gip/AYIE T4 = 300 / 500
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50 X 55 PT, < 0.75
60 65 0.75 = PT; < 0.85
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90 95 105 = PT,
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